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QUESTION OPTION 1 OPTION 2 OPTION_3 OPTION 4 R
has
Everyone ----------—- to obey the rules OPTION
1 have will are 1
command OPTION
2|The synonym of order is question ignore surive 1
Fringed OPTION
3|Ankitha was really ...... when she first read the book, 'Sherlock Holmes'. Fascinated Banished llluminated 2
do OPTION
4/What ......... the teacher want you to do? is was does 4
R K Narayanan
Who is the author of “The Room of the Roof”? Henry James OPTION
5 Ruskin Bond Rudyard Kipling 2
Weak
- Strong OPTION
6|Find the antonym of the word ‘Fragile’. Delicate Feeble 4
i i is writing
go[)nplete the slentence with gorrect form of the words in the brackets. has written OPTION
7|Ruby a letter now. (write) written wrote 1
OPTION
8|Cost of 3 bags of sugar is Rs.1200.What will be the cost of 5 bags? Rs. 2,000 Rs. 1,500 Rs. 1,800 Rs. 2,100| 1
OPTION
9{The sum of 0.001, 0.55 and 0.1 is ------—-- 0.651 0.156 0.561 6.005( 1
If the length and perimeter of a rectangle is 12cm and 40cm respectively, what will OPTION
10[pe the breadth of the rectangle? 20cm 10cm 8cm dcm '3
OPTION
11 X 6651 =0 1 10 0 100( 3
Angle measuring 180° is OPTION
12 right angle obtuse angle straight angle acute angle 3
OPTION
13|LCM of 4 and 16 is 2 4 8 16| 4
All of these OPTION
14|One Crore is equal to Ten lakh x 10 Ten million Greatest 7 digit number plus 1 4
OPTION
15|How many right angles make up a straight angle? 1 2 3 4| 2
2.5,2.05,2.005 OPTION
16{Which of these are like decimals? 2.5,2.50,2.500 2.05, 2.50, 20.05 2.5,20.5,2.05 3
Which nutrients give us energy to do work? OPTION
17 fats and carbohydrates protien vitamins and minerals minerals 1
Disease caused due to deficiency of vitamin C is OPTION
18 Malaria Night Blindness Beriberi Scurvy 4
OPTION
19(Which of the following is a good source of roughage? milk honey corn egg 3
OPTION
20|Cotyledon stores water food heat air 2
OPTION
21|A plant that has buds on the margin of its leaves is rose bryophyllum dandelion coconut 2
OPTION
22|The largest sense organ of the body is skin nose tongue ear 1
OPTION
23|An oviparous animal lion snake cat elephant 2
OPTION
24|The gas that is used in fire extinguishers Hydrogen Nitrogen Carbon dioxide Oxygen 3
OPTION
25|Animal species which no longer exist are called Extinct Ancient Lost Endangered 1
OPTION
26|The equatorial region has a ----------------- climate throughout the year. hot and dry hot and wet cold and moist hot and cold 2
OPTION
27 |Travelling long distances to avoid hardships of winter is called ------------ migration hibernation adaptation aestivation 1
Gurupurab is the festival of ------------ OPTION
28 Hindus Sikhs Christians Muslims 2
OPTION
29(Soil erosion is the removal of the............. by the action of wind and water. Topsoill Subsoil Ground soil Middle soll 1
OPTION
30|Maps which show certain features such as climate are called.............. maps political physical thematic world 3
OPTION
31|The............ is the widest river in the world. Nile Congo Amazon Mekong 3
OPTION
32| The partition of India took place in 1950 1949 1948 1947 4
Which of the following places has the coldest climate even during summers? OPTION
33 Jaipur Kanpur Allahabad Mussoorie 4
OPTION
34|Fibre made from the husk of coconut is called Thread Shell Coir None of these 3
In which ocean did the famous ship Titanic sink, in 19127 OPTION
35 The Pacific Ocean The Atlantic Ocean The Indian Ocean The Mediterranean Sea 2
The National Aeronautics and Space Administration renamed its Wide Field Infrared OPTION
36|Survey Telescope as Hubble 2 Space Telescope Nancy Grace Roman Space TelegHubble legacy Space Telescope Legend Grace Space Telescop| 2
OPTION
37|Name the first cricketer to score 1000 runs in an innings in any competitive match  |Prithvi Shaw Pranav Dhanawade Virat Kohli Shikhar Dhawan 2
OPTION
38|The super computer ‘PARAM’ was developed by TATA [IT-Kharagpur [IT-Kanpur C-DAC 4
Haryana and Punjab OPTION
39(Which two Indian states have a common capital at Chandigarh? Haryana and Himachal Pradesh Himachal Pradesh and Punjab Punjab and Uttarakhand 2
OPTION
40|Which cloth is used to make our national flag? Handwoven-Khadi Handloom Natural Silk Spun 1
Which number should come next in the pattern? OPTION
41|37, 34, 31, 28, 25 24 26 31 1
Which one of the five choices makes the best comparison? PEACH is to HCAEP as OPTION
42(46251 is to: 25641 26451 12654 15264| 4
OPTION
43|Which is the odd one? 15 25 29 27| 3
VIanu's pIrnaay 1S N Fepruary. The aate 1S a Z aigit number WITth one or e aigns T,
2,4, 6 or 8 in the ones place. The sum of its digits is a 2 digit number. Which of OPTION
44 |these is Manu's birthday 21 February 28 February 19 February 30 February 2
Write the next two numbers in the following series 6, 33, 9, 30, 12, 27, ------- J— OPTION
45 15, 24 9, 23 24,15 15,30 1
If P denotes +, Q denotes x, R denotes +, and S denotes -, Then 6Q2P4R2S6 = ---- OPTION
46[" 8 4 12 6| 1
12 friends met at a party. Each friend shook hands with each other exactly once. OPTION
47|Number of handshakes that took place is ---------- 66 50 45 40| 1
What should be the first action of the student who is in class when a fire alarm rings OPTION
48|at school? close all windows and doors to the clllook for an extinguisher to put out [move quickly and orderly down the stairs to theldetermine if it is a fire drill oran_3
When determining a person's body weight is appropriate, it is important to also OPTION
49|assess the person's : body height daily intake clothing size food preference 1
Arrange these words in alphabetical order and tick the one that comes last: OPTION
50|1. abandon 2. accuate 3. accumulate 4.acquit 5. achieve actuate accumulate acquit achieve 1
A and B are brothers. C and D are sisters. A’s son is D’s brother. How is B related OPTION
51t D. Father Brother Uncle Grandfather 3
Doctor : Patient ::Advocate :-------------- OPTION
52 Witness Fees Client Thief 3
If 1394=ACID, then 4516 = -—-----mmmm——- OPTION
53 Dead Deal Dean Deaf 4
The player of this game moves the ball across the court by dribbling and passing OPTION
54|the ball to throw it in the basket of the opponent team. Cricket Basketball Tennis Chess 2
Sam ranked 9th from the top and 38th from the bottom in a class. How many OPTION
55(students are there in the class? 45 46 47 48| 2




